AT D E C msri‘tgng Technical Summary
Possibilities ADB-B400F
VESA 400 Fixed Brackets

COMPONENT CHECKLIST

{ Item Name QTY
9 Al M5 x15mm Screw 4
/ 7
{ g A2 M6 x 15mm Screw 4
g g A3 M8 x 15mm Screw 4
g g A4 M6 Washer 4
g g B Fixed Bracket 2
) )
g 0
g f PRODUCT DIMENSIONS
0
f ég
o® gg/
[ ]
¢
2 | g8
L 5 P 83
AN ST U ST
L l
: . U
iy R
INSTALLATION INSTRUCTION
1. Attach brackets to display 2. Mount display on rail
Height
adjust

No portion of this document or any artwork contained herein should be reproduced in any way without the express written consent of Atdec Pty Ltd.
Due to continuing product development, the manufacturer reserves the right to alter specifications without notice. ©20180807A

atdec.com ADB-B400F Page 1of 1

Please Recycle ",'}



